  FOR  150.00 GRAMS THE SUBSTANCE K2Cr2O7(S)  PLEASE DO THE FOLLOWING:

a.       CALCULATE THE GFM; USE ALL SIGNIFICANT FIGURES ON THE PERIODIC TABLE MASS NUMUBERS. K2Cr2O7
                                                               i.      HOW MANY MOLES OF K ARE IN ONE MOLE OF K2Cr2O7?

                                                             ii.      WHAT IS THE % COMPOSITION OF Cr IN K2Cr2O7?

b.      CALCULATE THE MUMBER OF MOLES OF THE K2Cr2O7.
c.       HOW MANY PARTICLES ARE IN THE 150.00 GRAMS OF K2Cr2O7 ?

d.      IF (12.04 x 1023) MOLECULAES OF THE K2Cr2O7 ARE PRESENT. HOW MUCH WOULD IT WEIGH IN GRAMS?

 

2)      A SAMPLE OF NH3 (AMMONIA) CONTAINS (18.06 x 1023) MOLECULES; CALCULATE THE FOLLOWING FOR THIS SAMPLE.

a.       WHAT IS THE MOLAR MASS OF AMMONIA?

b.      WHAT IS THE MASS OF THE (18.06 x 1023) PATRTICLES, WHICH ARE MOLECULES IN THIS SUBSTANCE.

c.       WHAT IS THE VOLUME AT STP OF THE (18.06 x 1023) MOLECULES?

 

3) FIGURE THIS OUT! HOW MANY GRAMS OF Pb(NO3) WOULD HAVE THE SAME NUMNER OF MOLES AS 150.00 GRAMS OF K2Cr2O7(S ?

 

4)   FOR THE REACTION  2 H2 + O2 ( 2 H2O PLEASE CALCULATE THE FOLLOWING:

a.       Write all the mole ratios between the compounds, i.e ex H2 to O2 etc.

b.    If   5 moles of water react, how many moles of  H2, and  O2  would react? USE THE NEW POWERPOINT (#433) FOR HELP!!!

